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QUESTION 1
U1l.T1is in a tablespace TBS_UNCMP which has no default compression and U1.T2 is in a tablespace,
TBS_CMP with default compression for query low.
You execute commands:
SQL> EXEC DBMS REDEFINITION.START REDEF TABLE (unama=>

‘ul’ ,orig table => '‘tl1’, int table => “t2',options flag =>
DBEMS REDEFINITION.CONS USE PK, enable rollback => TRUE);

PL/SQL procedure successfully completed.

SQL> EXEC DBMS REDEFINITION.SYNC INTERIM TABLE (uname => ‘u’,
orig table => 'tl’, int table => ‘t2');

PL/SQL procedure successfully completed.

SQL> EXEC DBME_REDEFINITIGN.FINISH_REDEF_TPLBLE[LL‘HEUHE => "“ulr,
orig table => ‘ti/, int table => ‘t2'):

PL/SQL procedure successfully completed.

SQL> EXEC DBMS REDEFINITION.ROLLBACK (uname => ‘ul’, c:rig_tabla =2

‘t1l/, int_table => ‘t27);

PL/SQL procedure successfully completed.

Which three statements are true? (Choose three.)
A. The primary key constraints on T1 are dropped
B. T1is in the TBS_UNCMP tablespace

C. Tl isin the TBS_CMP tablespace

D. Tl is in compressed format

E. T1is in uncompressed format

F. All indexes on T1 remain valid

Correct Answer: ACE
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QUESTION 2

Which two statements are true about a band join? (Choose two.)

A. The optimizer always uses the smaller of the two row sources to build a hash table on the join key.

B. It returns rows for SQL statements that contain an equijoin.

C. Itis a non-equijoin in which the key values in one data set must fall within the specified range of the second data set.
D. For each row in the first row source, Oracle probes the second row source for matching rows and joins them.

E. The SQL runtime engine avoids unnecessary scanning of rows that fall outside the defined ranges.

Correct Answer: CE

Reference: https://docs.oracle.com/en/database/oracle/oracle-
database/12.2/tgsql/joins.htmi#GUID24F34188-110F-4245-9DE7-43954092AFEQ

QUESTION 3
Which statement is true about policy expressions?
A. A named policy expression is stored in the Data Masking format library.

B. A named policy expression applied to a column in a redacted table overrides the default expression of its redaction
policy.

C. Aredacted table can have only one policy expression defined on it.
D. A policy expression can be applied to columns in different redacted tables.
E. A named policy expression is stored in the Enterprise Manager Database Express repository.

Correct Answer: C

QUESTION 4

Your CDB is in ARCHIVELOG mode and has an application container with a container PDB. A backup
exists for the CDB. When you connect to the container PDB and try to execute a query, you get an error
that a SYSTEM data file is missing in the container PDB. You want to use the RMAN RESTORE
DATABASE and RECOVER DATABASE commands to perform the recovery.

Examine these actions:

Connect to CDB$ROOT and execute SHUTDOWN ABORT and STARTUP MOUNT.

Connect to the application container and execute SHUTDOWN ABORT.

Connect to the application container and execute ALTER PLUGGABLE DATABASE CLOSE ABORT.
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Which option correctly lists the actions that you must execute before performing the recovery?
A.land 3

B.1and2

C.only2D.only 3

Correct Answer: A

QUESTION 5

Identify two types of files that are generated by the Pre-Upgrade Information tool as part of the database upgrade
prerequisite checks? (Choose two.)

A. expdp scripts to export database objects belonging to the SYS schema
B. a log file containing a list of pre-upgrade patches to be applied

C. RMAN database backup scripts

D. alog file with tool recommendations and requirements

E. pre- and post-upgrade fixup scripts

Correct Answer: DE

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/upgrd/using-preupgradeinformation-tool-
for-oracle-database.html#GUID-C0219AF1- AD43-4097-B358-E53E48958647
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